Math 153 - Quiz 4 Name kej
February 28, 2013 Score

Show all work to receive full credit. Supply explanations when necessary.

(10 points) The data below show the annual numbers of tornadoes in Missouri and Illinois
from 1980 to 2008. For each state, find the quartiles, the interquartile range, and the
outlier cutoff values. Construct and compare the modified boxplots, indicating outliers with

asterisks.
| Year I illinois | Missouri ] m S Sount
1980 | 14 10 R
1981 | 33 33
\LL\NO\S 1982 | 35 77 Qo=
e 1983 | 14 22 : \
1984 | 34 40 A.=3
Q.= 305 1985 | 15 13 3 .
1986 | 22 17 = 4\
Q, = 33 1987 | 22 6 As
1988 | 20 17 AR = M1.5-\T= Q4.5
Q, = 582 1989 | 15 13 1
3 1990 | 50 31 o
IoR = 58.5-30:5 1991 | 32 17 OuTute CUTOFFL 3
- 1992 | 23 23 ) .
o s -
= 38 1993 | 34 43 |7~ 1.9 (GQ.J) 19.75
1994 | 20 35
. 1995 | 76 35 41,5 + /.5(9‘/.5) = 718,38
ToF; - »
Outuwe Cu S L0068 | 6 >
- - 1997 | 29 12
20.5 - 1-5(3%) = “36.5 1998 | 99 23 ¥ 84,109, 87
1999 | 64 41
[~ € -
58‘0 *+ &“') (3%) = 1‘5'5 2000 55 27 AQE OouTLIERS
2001 | 21 39
2002 | 35 29
% 130,134 aee 2003 | 120 84 Max Vatug Tuat’s NoT
ouTuRS 2004 80 68 . 77
2005 | 19 32 AN ouTugr °
" 2006 | 124 102
AX VALUE THAT's NnOT 2007 23 42 , 1 T
2008 | 47 87 [Miw vacug THAT S 2o
AN OuTuwLne - qq - . (0
AN ouTLI®Z o

Miv vAlue TyatT's NoT

AN ouTU R - \L\



\LL\I\)O\S

14

o %0 30 Ho 50 4o T® G0 T o jo (30

m\SSouQ\

TrHe lowoe HALVES OF THE Two DATA SETS ARe QuiTE

Simie, /L/owevva) THE upp&z HALVEY ArE V%}zg DIFFRen T,
7/;’5 ﬁc//o,c% HALF OF THE Jecinvort DATA /S SgN/FICAMTLJI/V/O"Le
SpreAd ouT THAu THE Uppsa HALF OF The Migsoun: DATA.

,’/—/—//S‘ MUNS THE MumBer OF ToraADDES (N |LL‘\MO\3 1S MucH

Mone DIFFicuLT 70 PRECICT, RELATIVE 70 Missouns, wHEW THRE

Ang (0TS OF T7ToraMio0fs.



